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Triebsterben  
an Lärche   

26     
6

Lärchenkrebs  
640         

40

Rindenschilderkran-
kung der Douglasie    

0     
1

Douglasienschütte, 
Rostige u. Rußige

 
82

 
120

 
963

  
8

 
3

 
672    

9   
45   

70

Rotfäule/Ackersterbe  
1.604

 
88.000    

104.152 
Rotfäule

 
0

 
934    

7.494/ 
33

  

Hallimasch in Nadel-
holzbeständen

 
95

 
72.600

 
4

 
 

132

 
65  

857

     
6   

2.200

Pi
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e 
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 L
au

bh
ol

z

Hallimasch in Laub-
holzbeständen   

13.700    
0

       

Eichenmehltau  
287

 
2.450

 
1   

301
 

1.450
 

201      
470   

240

Eschen- 
Triebsterben

 
8.057

 
18.900

 
1.251   

16.500
 
2

 
27.216/ 
2.854

  
 

14.900/ 
45

 
62   

41.500

Eschenkrebs        
850

Buchenkrebs  
0       

Ulmensterben  
103

 
120

 
3

 
0

 
1     

5.600

Sprühfleckenkrankheit     

Blattbräunepilze  
 
187 

Buche
  

10     

Erlen-Phytoph- 
thora

 
370

 
240

 
34   

0       
40

Esskastanien- 
rindenkrebs

 
17   

143     
200

Ab
io

ti
sc

he
 S

ch
äd

en

Windwurf/-bruch  
2.799.847

 
1.710.000

 
519.869   

286.139
 

215.000
 

500.000   21.762
 

2.000/8
 

29.000
 

590.600
 

1.207.000

Schneebruch/ 
Eis/Duft


31.860

 
85.000

 
2.311   

2.100
 

8.045/ 
105

141   
370   

511.000

Dürre-/ 
Hitzeschäden

 
599.941/ 

14.644
 

50.000
 

4.791    
2.000   1.042  

9.600/57
 

385   
800

Spätfrost  
403

 
26.000

 
2   

7.795
 

8.100   4.967   
1.005   

480

(Frost-)Trocknis    
0   

Lawinen   
1.600    

8.400

Ko
m

pl
ex

sc
hä

de
n/

So
ns

ti
ge

s

Buchenrinden- 
nekrose

 
2.054

 
1.350

 
520   

11.430
 
0

 
10.650/ 
39.183

   
595

 
100  

Buchenwoll- 
schildlaus   

70
 
16   

10
 
0        

10

Eichensterben
 

28.707/ 
750

 
500

 
410 

 
6.400/ 

536
 

260
 

13.550/ 
33.762

   
23.353

 
570/20

 
4.075   

2.600

Misteln an  
Nadelbäumen

 
59

 
19.000

 
3.174   

0     
300

Misteln an  
Laubbäumen

 
1

 
120

 
3   

0       
800

Kiefernsterben
 

102.661/ 
6.433

  
4.454

 
50    

9.942
 

1.300

Buchensterben
 

348.213/ 
12.101

  
3.656   

80
 

800.000    
2.228

 
5.000

 
1.400 

Tannensterben
 

229.254/ 
2.013

  
2   

0     
2 


